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THAT’LL STOP YOU
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^ sS “O QEOAM YT GDT IANZ AIY UTPOA- 
AOAP Ql GXXDTBOGQT YEGG XGRNIR 
EGW JIAT CID GET WBOTABT 1C 
ELHGA UTEGROILD" (A. UTQELAT)
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“HZ HOAJ JITW AIQ DLA OA GET 
NOATW 1C YGD; HZ HOAJ DLAW 
DGQETD GNIAP GET NOATW 1C 
XTGBT."
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I (HGBMTAVOT MOAP)"YT EGJ G ELNNGUGNII OA GET EILWT 
ZTWQTDJGZ ... WXDOAP GW IA GET YGZ 
GAJ QEOW XLQW HT OA RTDZ PIIJ 
WXODOQW.1’
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\f/ "GETZ EGRT WXOTW GAJ 
QEOTRTW GAJ HTA 1C 
TWXOIAGPT YE I YILNJ 
XOBM ZILD NIBM GAJ 
WQTGN ZILD AIQTUIIM." 

(FIEA G. HGBJIAGNJ)
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“HZ TGDNOTWQ ZTGDW YTDE WBTAQTJ 
YOQE GET WYTTQ XTDCLHT 1C, CID 
HZ UTNIRTJ CGQETD XTDHOQQTJ Al 
I AT Ql WXTGM TRON OA HZ 
XDTWTABT."
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“O EGRT Al WZHXGQEZ CID GET HGJ, 
AIOWZ, JLNNYOQQTJ GAJ WEIDQ- 
WOPEQTJ QEDIAP YEI BNGHILD CID 
YGD.” 'Hi(YONCDOJ NGLDOTD)

The most famous Canadian lets its taste do the talking. 
Solve cryptograms by letter substitution (eg. G is really A).


